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 I, 2012 

SUMMATIVE ASSESSMENT – I, 2012 

 /SOCIAL SCIENCE    

X  /  Class – X  

 

 3                   90 

Time allowed : 3 hours          Maximum Marks : 90 

 

 

(i) 31  

(ii) 1 10 1  

(iii) 11 22 3 80 

 

(iv) 23  30 5 120 

 

(v) 31 4

 

General Instructions : 

(i) The question paper has 31 questions in all.  All questions are compulsory. 

(ii) Questions from serial number 1 to 10 are Multiple Choice Questions. Each question 

carries 1 mark. 

(iii) Questions from serial number 11 to 22 are 3 marks questions. Answer of these 

questions should not exceed 80 words each. 

(iv) Questions from serial number 23 to 30 are 5 marks questions. Answer of these 

questions should not exceed 120 words each. 

(v) Question number 31 is a map question of 4 marks from Geography only. After 

completion, attach the map inside your answer book. 
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1. 1820  

(a)  (b)  

(c)     (d)  

In which one of the following commodities India was the single largest exporter in 
1820’s ? 
(a) Raw cotton   (b) Opium 
(c) Indigo    (d) Food grain 

1 

 OR /   

 

                                                                                    

(a)  (b)  

(c)  (d)  

Choose the most appropriate alternative from the following, why did upper class 
people in Victorian Britain prefer hand made products? 
(a) They were cheap 
(b) Symbolized refinement and class 
(c) They were better finished 
(d) Individually produced 

1 

 OR /   

 '

(a)  (b)  

(c)  (d)  

According to the historian Gareth Stedman Jones’ Nineteenth century London was 
a city of __________. 
(a) Clerks and shopkeepers 
(b) Labourers and Farmers 
(c) Teachers and Reformers 
(d) Merchants and Administrators. 

1 

   

2.  

(a)  (b)  

(c)  (d)  

Which one of the following is the oldest printed Japanese book? 
(a) Sutta Pitaka   (b) Mala vansa 
(c) Diamond sutra  (d) Dipa vansa 

1 

 OR/   

 

(a)  (b)  

(c)  (d)  

Which one of the following is the earliest novel in Marathi? 
(a) Ganga    (b) Januna Paryatan 
(c) Panchtantra   (d) Kadambari 

1 

   

3.  

(a)  (b)  

1 
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(c)  (d)  

Which one of the following is a vulnerable species ? 
(a) Hornbill   (b) Gir Lion 
(c) Mithun   (d) Gangetic Dolphin 

   

4.  

(a)   (b)  

(c)  (d)  

Which one of the following is a leguminous crop ? 
(a) Pulses    (b) Millets   
(c) Jowar    (d) Sesam 

1 

   

5. 

(a)  (b)

(c)  (d)  

Which one of the following languages is spoken by the majority of population in 
Belgium ? 
(a) French    (b) German 
(c) English   (d) Dutch 

1 

   

6. 

(a)  (b)  

(c)  (d)  

Which one of the following states is not created on the basis of language? 
(a) Nagaland   (b) Uttar Pradesh 
(c) Madhya Pradesh  (d) Haryana 

1 

   

7. 

(a)  (b)  

(c)  (d)  

A person who believes in equal rights and opportunities for women and men is 
known as __________. 
(a) Feminist   (b) Communist 
(c) Casteist   (d) Secularist 

1 

   

8.  

(a)  (b)  

(c)  (d)  

Development of a country is generally determined by which one of the following ? 
(a) Per capita income  (b) Literacy level 
(c) Wealth status    (d) All of the above 

1 

   

9.  

(a)  

(b)  

(c)  

1 
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(d)  

Which one of the following tact is NOT true with reference to Punjab, Bihar and 
Kerala ? 
(a) Punjab has highest per capita income 
(b) The literacy rate of Kerala is the highest 
(c) Infant mortality rate of Bihar is the highest 
(d) Infant mortality rate in Punjab is lower than Kerala. 

   

10. 2005  

(a)  360 

(b)  365

(c)  100 

(d)  200 

Under NREGA 2005 which one of the following is correct ? 
(a) 360 days of employment is guaranteed. 
(b) 365 days of employment guaranteed 
(c) 100 days of employment guaranteed 
(d) 200 days of employment guaranteed 

1 

    

11 " 

" 

‘Before the arrival of outsiders most of the Africans had a little reason to work for 
a wage’. Support the statement with three reasons. 

3x1=3 

 OR/   

 

How did cloth merchants develop a close relationship between the towns and 
country side in England ?  Explain with examples. 

3x1=3 

 OR/   

 

How did the development of Bombay differ from London? Explain three 
differences.  

3x1=3 

   

12 

How did the print bring the reading public and hearing public closer ?  Explain 
with examples. 

3x1=3 

 OR/   

 Explain three changes in technology and society which led to an increase in 
readers of the novels in eighteenth century Europe. 

3x1=3 

   

13. 

Explain any three ways to solve the problem of land degradation in India.  

3x1=3 
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14. 

Classify Indian forests into three different categories. Mention the main feature of 
each category. 

1½+1½=3 

15. 

What are tanka’s ?  How are they useful for storing water ? 

1+2=3 

   

16. 

Describe the procedure of roof top rainwater harvesting ? 

3 

   

17. 

Explain any three forms of power sharing among different organs of government 
in India. 

3x1=3 

   

18. 

Explain three points on the over lapping social differences.  

3x1=3 

   

19. 

How do social divisions affect politics? Explain with examples.  

3x1=3 

   

20. 2004

Compare India and Srilanka on the basis of any three indicators of HDI for 2004.  

3x1=3 

   

21. 2005  ' '

How is NREGA 2005 reffered to as “Right to Work”? Explain with examples. 

3 

   

22. 

Compare the working conditions of organized and unorganized sectors in three 
points. 

3x1=3 

   

23 77 77

What is G-77 ? What did the G-77 countries want to gain from the New 
International Economic Order. (NIEO) Explain. 

1+4=5 

 OR/   

 

Explain any five major problems faced by new European merchants in setting up 
their industries in towns before the industrial revolution. 

5x1=5 

 OR/   

 

Explain any five forms of entertainment that came up in the 19th century England.  

5x1=5 

   

24 3+2=5 
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What were the three defects in copying manuscripts? Mention any two uses of 
printing press ?

 OR/  

 ' '

Who is the author of ‘Titash Ekti Nadir Nam’? Describe the theme of this novel.  

1+4=5 

   

25 

Name any four authors who wrote for the poor people of the society ?  How were 
restrictions imposed on the Indian Press? Explain with examples. 

2+3=5 

 OR/   

 " " 

‘Novels created a sense of social awareness in India’. Support the statement with 
examples. 

5x1=5 

   

26. 

Which fibre crop is known golden fibre? Describe the geographical requirement 
for its growth. Also name the two major producing states of it. 

1+3+1=5 

   

27. 

Describe any five key features of federalism.  

5x1=5 

   

28. 

How does communalism take various forms in politics? Explain with suitable 
examples.  

5x1=5 

   

29. 

What is the meaning of sustainability of development? Why is sustainability of 
resources essential for the development? Explain with examples. 

1+4=5 

   

30. 

How to create more employment in rural areas ?  Explain with the help of five 
suitable examples. 

5x1=5 

   

31. (i) A  B 

 

 (A)  

 (B) 

1x4=4 
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(ii) 

 (C)  

 (D) 

(i)  Two features A and B are shown in the political outline map of India. 
Identify these features with the help of following information and write 
their correct names on the lines marked on the map. 

 (A)  A soil type 
 (B)  Type of forests 
(ii)  On the same political outline map of India, locate and label the following 

items with appropriate symbols: 
 (C)  Salal Dam 
 (D)  Leading producer state of maize                                  
 

31 

 

(31.1)  

(31.2)  

(31.3)  

(31.4) 

 
Note: The following questions are for the visually impaired candidates only in lieu 

of Q. No. 31. 
(31.1)  In which region is Black soil found? 
(31.2)  Name the tiger reserve in Kerala. 
(31.3)  In which state  is  Salal Dam located ? 
(31.4)  which is the leading maize producer state in India ?                    

 
 
 
 
 

1x4=4  
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